it

ZDTNIAREZEEZBE W EIF W2 %,

3

D

58

WICHYNE D TEIVWET, AFIZIITROXLI LAY RHY F L,

ZZITETEEL,

A TBRED

AL EFET,
R=C T @ £ =
93 2/7H Y = %(1,---, 1)z Y = %(1,'%1)2 Kz R
107 | F/B20TH | EH#ky = x + logyo appr& 10D Toeeee By = x — logyo apprE HIH T----+
_ 1 a® 1 a?
188 9T H = 27.2¢ [(aﬁC —?>x,21+1 ] = 27.2¢ [(O}%C - 0,%;) X2, ]



https://www.coronasha.co.jp/np/isbn/9784339027334/
https://www.coronasha.co.jp/np/isbn/9784339027334/
https://www.coronasha.co.jp/np/isbn/9784339027334/
https://www.coronasha.co.jp/np/isbn/9784339027334/

